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English Language
Time : Three Hours] [Maximum Marks : 75

[Minimum Pass Marks : 26

Note : Answer all questions. The figures in the right-
hand margin indicate marks.

1. Answer any five of the following questions: 15

(@) What according to Charak, does human
body contain ?

(b) Why did Ramanujan have to come back
to Madras ?

(©) Why did J.C. Bose stammer while
explaining his methods ?

(d) What, for Raman, is the true elixir of
life ?
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(2)
(¢) Who is the true daughter of Old time 7

(/) What is Information Technology ?

(g) How are diseases caused ?

(h) Where was the atomic bomb first tested ?

2. (a) Read the following passage and answer
the questions given below :

The word junk food was first used in
1972. Since then, its popularity has only
increased. Junk food refers to such snacks
that children like the most like burgers,
pizza, chips, potato fingers etc. All of
these include more calories in less
quantity. According to experts, a burger
contains 150 kcal, a pizza contains about
300kcal, pastries and cakes upto 120 kcal.
Due to the high amount of calories, the
problem of obesity in children is
increasing. Junk food mostly contains fat
and carbohydrates. If children start
consuming more junk food, they will
have to face serious problems in
upcoming  time.  Therefore, being
responsible parents, one should take care
of their children’s diet.

Questions : 3
(/) What does junk food mostly
contain ?

#LDRG_(7) (Continued)



(3)

() How many calories are in pastries ?

(iii) Why are children facing the problem
of obesity ?

(6) Give noun forms of any two of the
following :

(@ Act
(ii) Fear
(iii) Define
(iv) Hopeful
3. Write a report on any one of the following
in about 200 words : 10
(@) Annual Day celebration in your college
(b) An accident you witnessed
(c) Free health camp
4. Expand any ome of the following ideas in
about 200 words : 10
(@) Honmesty is the best policy
(b) Seeing is believing
(¢) Take my hat off to someone
(d) Time is money
5. (@) Do as directed : (any twenty) 20
Fill in the blanks with ‘a’ or ‘an’.
()  Sanskrit is ...... difficult language.
@) I found ...... egg in the nest.
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(4)

Choose the correct word :

(7i)  He was polishing his ...... . (shoe/
shoes)

(iv) This news ...... not true. (is/are).

Rewrite the sentence correctly :

(v)  There is a shop at end of street.

(v/) Mona and Shashi are of same age.

Put in some or any.

(vii) There is ...... dirt on your shoes.
(viii) Have you got ... brothers or
sisters ?

Fill in the blanks with ‘one’ or ‘ones’.

(x) I want some new books. I've read
all the old ...... :

(x)  So this is your house. It’s a pretty

Fill in the blanks with ‘are’ or ‘were’.

. (xi) Where ... you at 8 O’clock
yesterday.

(xi)) Don’t buy these shoes. They ......
Very expensive.

Use the correct form of the given verbs
to complete each sentence.

(xz'ii). Nisha ...... her hair twice a weak.
(wash)

21_DRG (7) ' (Continued)



(5)
&xiv) T like my job

I
people daily. (meet) ------ a lot of
XV Wate _
xv) at.tr ...... at 100 de o
(boil). gree celsius.

(xvi) 1

(xvii) Always/late/Sonu/ come.
(xviii) Jenny/always/nice clothes/wear.

Fill in the blanks with for/since/ago :

(xix) Jack has been with us
years.

(xx) She has been at her work
morning.

------

Rewrite the sentence, using too :
(xxi) It 1s very dark; I can’t see anything.
Rewrite in reported speech:

(xxif) She said to me, “Come to my
house.”

Fill in the ©blanks |using correct
preposition :

(xxiii) He travelled ...... Mumbai by train.

21_DRG (7) (Turn Over)



®)

(6)

------

(xxiv) Has your dad come¢ back

office ?
Fill in the ©blank with suitable

conjunction :
(xxv) She writes slowly ......
5

Give synonyms : (any five)
() Hardworking

(77)) Small

(iti) Good

(iv) Magnify

(v) Enjoyable

(vi) Acquired

(vii) Funny

(viii)Important

Give antonyms: (any five) 5
(i) Arrogant

(7)) Knowledge

(7ii) Liquid

(iv) Rapid

(vV Harm

(vi) Strong

(vii) Boring

(viii)General

(Continued)
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(7)

(d) Make adverbs
five) of the following : (any

(@) Careful
(1) Love
(i71i) Friend
(iv) Tidy

(v) Sleepy
(vi) Pretty
(vii) Impatient

(viii)Happy

21 DRG_(7) 10,240
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Compulsory
Group - II
Paper - 1
Cost Accounting
Time : Three Hours] [Maximum Marks : 75
e - 9t g % W AT Y ¥ ofF Y

Sifgl 3R Sifeha € |
Note : Answer all questions. The figures in the right-
hand margin indicate marks.

SHhT8 / Unit-I
. (a) 9P A@iHT & 3G w1 faft@u) 7

Write the objectives of Cost Accounting,

N
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(2)

(®) JIFT WEE9 =0 WA ATFH I

=l SEEEC 73
Explain the perpetual inventory system
of material control.
37eIaT ~ OR
= foagor @ Swedl, 2022 W RIS
digd g wsfa @ grEn R T
fcam g =id @@ W81 T9R¢ 15
qEUl &1 Wit qEU =67 A
3 ET >
fafy | s=EAE fafy | sRA
SH. 01 500 2 | SH.02 400
SH. 10 200 3 | SH.15 100
3. 18 400 4 | S22 200
S, 28 300 5 S, 31 300
SH. 29 & 10 THEAl Sy W
15 S 1 frifaa &t W& et
(Continued)
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(3)

From the following particulars prepare Store
Ledger Account for the month of January,
2022 showing material issue price on the

Weighted Average Price method :

Receipts of Material Issue of Materials
Rate
Date Units Date Units
Jan. 01 500 2 Jan. 02 | 400
Jan. 10 200 3 Jan. 15 100
Jan. 18 400 4 Jan.22 | 200
Jan. 28 300 5 Jan. 31 | 300

On Jan., 29,10units return, issued on
15th Jan.

ThTS / Unit-11

7. M 3R N @ qa fawm T 3Tk U
F A4 FHHE: T 7,500 T 5,000 TS
fr Trafafen = 8 @ w wiowwl %
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Xy effuaeE @ gd AR

B ¥11,250 T« C ¥ 8,750 el
a1 faum

15

I faum
B | ¢c | M| N

faum
A

M 30% | 40% | 20% | - 10%

N 30% | 30% | 20% [ 20% -

Jan fawm & syl 1 Scaed fawmm
¥ fig wFam (arfuweE) REW g TE
fom 99 TR W

M and N be two service departments with

respective total of ¥ 7,500 and ¥ 5,000 of
overheads to be apportioned on inter service

department on the basis of percentages given
in the chart given below -

139_DRG_(14) (Continued)



(5)

Find out the total overhead of production
departments A, B and C assuming the total
of A, B and C being A ¥10,000, B

¥ 11,250 and C ¥ 8,750 respectively before
distribution.

Departinerit Production Deptt. | Service Deptt.
A B C M N
M 30% | 40% | 20% - 10%
30% | 30% | 20% | 20% -
Prepare a statement showing the
apportionment  (Allocation) of service
department overhead to production
departments.

HA4T / OR

(a) B 99 wd T w1 HeEel 7

N

Discuss idle time and overtime.

(b) UOMCHE AWGY TG0 1 FHARTI 7

N[=

Discuss incentive wages system.
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Betul Company Lid. manutictures thive types
of tans, Table Fan, Ceolling Fan and Cooler

Fan. Thetr cost are as follows

Table | Cetling| Cooler

Fan Fan tan

() (¥) (¥)

Matenals per Fan | 20 25 123
Wages per Fan 40 o0 170

Factory Overhead ¥ 30,000
Office Overhead ¥ 10,000

Selling Overhead ¥ 15,000
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(8)

Calculate toral cost and per tan cost if the

S3s1s of apportionment of overhead being :
I Ceiling Fan is ¢qual to 2 Table Fans and

I Ceoler Fan is equal to 5 Table Fans.

Production is as follows :

Table Fan 230, Ceiling Fan 125 and Cooler

Fan 235,
HIqT / OR
wE (I w)

- e

Sl STl 1 Sg9Hr
T 2?2 SIS TUET 9 TSR &I STl
S 9 9 g=r @™ S«

T &Y MOHET S Sl 9gid

e

<l

FT Taa=Sar Siwgl 15
What i1s work in progress in Contract
Account ? How 1s i1t calculated ? How it is
shown 1in Balance Sheet? Discuss the
method of ascertaining the profit in Contract
Account.

(Turn Over)
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(12)
L

. _ T ferfeo
frerffian w wife freford fett

() ©M-q®
J— S UL 1
(b) ftarem @ & aregrfa @

GUiEay

() Wy @ faanier @ afofrd <
feretrte

(d) YRS @rd orEiEd fed Sam W
T Bl ® 2

() MY &4 UH IHMHA &4

Write short notes on the following :

(a) Log-book
(b) Classification of cost in operating
costing

(c) Absolute Ton kilometer and Commercial

Ton kilometer

(@) In which industries opearting costing is

used ?

(¢) Normal and abnormal wastage.
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(c) S AEA 31y
(d)ﬁaﬁmtngo%ﬁmmfw
arﬁ'vﬁwm_faa}gfﬁ

(e) T9F8 T 20% wery T 10,000
wwwﬁaw&msﬁ'ﬁm

R =3 720,000

w-faesg fag [T9] ¥50,000

Calculate from the following data :
(a) Profit on the Sale of < 2,00,000

(b) Required sale to earn a profit of
< 30,000
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B.Com. (Part-Il)
Examination, March-April, 2023

M

Compulsory
Group - 1
Paper - 1

Corporate Accounting

Time : Three Hours] [Maximum Marks : 15
[Minimum Pass Marks : 25

Je . wi T ¥ SW At W T+ SE
A T

Note : Answer all questions. All questions carry equal
marks.

geTS / Unit-I

. SH@ @ Frifga ol @ @ SR Y S
T S SRl §7 TN STl SR
W A R & e ¥ ASAEe @
vfafear STl
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2)

to the

issucd
entriecs

How and when can the shares
public be forfeited ? Give the journal
forfeiture and reissue of shares.

3I7eIaGT - OR
Jvaer o= feafmaes ¥ ¥ 100 STl 4000,
129% ===re6 =\UT-9S Taeitfaa foed ST sheg=lr
=T TS SagfaEr @ daa €1 =98 {3000
=soraS 2% UsgItST 49X SiEdar 61 Aeitaa R
TS, <iSfes SIS % 1000 SEo—9 <hraal =6
=T Bl T 75,000 S Wsh SEOT < oo dHeldh
giaxia % ©9 #A S oea T3
s Sa—-<4T SBl SsEaAr ssh gTaesl A E
THX =SS eaT Ss@In 9w g 'S
g s fTEgr=r srEr ?
National Company Ltd. issued 4000, 12%b6
secured

Mortgage Debentures of T 100 each
on the fixed assets of the company. Of these,
3000 Debentures were issued to the public at
a premium of 2% while the remaining 1000
Debentures were issued to the company’s
bankers by way of collateral security against

for

a loan of T 75,000.
Show how these transactions will be recorded
in the Company’s books and how they will

appear in the Balance Sheet.
(Cornrirnued)
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PRI QR Q3082014 4 Al (40

0 KR I I R AV
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B IlaR
IRENEI ST

ay wl i

fafay Qmer
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CHCUUNRS e
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wrd

Rt Tt
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v
10,00,000
11,45,000
3,72,000
2,75,000
55,000
1,70,000
4,75,000
50,000
2,25,200
3,00,000
12,25,000
58,000
2,00,000
20,200
4,00,000
55,00,000
7,50,000
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¥
UM e 20,50,000
gsft R gy 2,00,000
10% 0193 27,00,000
ST 1,50,000
B % fau yyH 5,00,000
SfiRed g -
Iot fori ¥ —

(@) ¥100 aml 3000 WG sfw yofa: qw

(b) 10000, 10% ¥ 100 G Werfy QAR
W qufew |

From the following  information, prepare

Balance Sheet of ABC Ltd. as on 31.3.2014

as per Companies Act, 2013 :

3
Term Loan 10,00,000
Sundry Creditors 11,45,000
Advances/Short-term 3,72,000
Cash and Bank balance 2,75,000
Staff advances 55,000
Provision for Taxation 1,70,000
Securities Premium Reserve 4,75,000

DRG (16) (Continued)



(5)

Loose Tools
Investment-Non Current
Loss for the year
Sundry Debtors
Miscellaneous expenses
Loan from debtorg
Provisions for bad debts
Stores

Fixed Assets

Finished Goods

General Reserve

Capital work-in-progress
10% Debentures
Trademark

Provision for Depreciation

Additional informations :

Share capital consists of —

¥

50,000
2,25,200
3,00,000
12,25,000
58,000
2,00,000
20,200
4,00,000
55,00,000
7,50,000
20,50,000
2,00,000
27,00,000
1,50,000
5,00,000

(@) 3000 Equity Shares of ¥ 100 each fully

paid up.

(b) 10000, 10% Redeemable

Preference

Shares of ¥ 100 each fully paid up)

AT / OR

DRG (16)
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30.9.2017 I X fafges 1 GAHMGT g3 59
fe7 St gst ¥10 @&t 20000 I OH
fauisa ot o gmfa-wfael &1 faeaRon

F=reaq o1 :
F

ke T 10,000
W 9 gifE 3,50,000
i 9 gif| 2,00,000
SeRl ¥ agelt 1,00,000
ITYRI&d o gR 5,00,000
YEIfghR SR :

50,000

FHaRE & oew 99 & form
G R (379 gR7 wfaeyfast
9 & % gRI 99l T 3,00,000)
10% HUMH (9] YR W)
e =1 uiRgfgs s9% g wofaar @
gl ®f TS U (PR deRl ¥ amfieay
H WMHA FA L) & 4% W aUT TR
AHERI I YTAH Ht TE TR W 2% FivEd
fRar mar w99 =9 ¥ 2,800 WA =l
gfed, ¥ 15,800 T¢I GHYA I fafy d& Tw
g9 & fow wosl W s <9 W)
fearer &1 oifgw faeror @@r ¥R SifsT
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¥ o9 X fe@ru|
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(7)

X Co. Ltd. went into voluntary liquidation on
30.9.2017 at which date its capital consisted
of 20000 shares of ¥ 10 ecach fully paid and
particulars of Assets and Liabilities were as

under :
¥

Cash in hand 10,000
Machinery realised 3,50,000
Stock realised 2,00,000
Debtors realised 1,00,000
Unsecured Creditors 5,00,000
Preferential Creditors for unpaid

salaries due to employees 50,000

Secured Creditors-Securities by
themselves realised ¥ 3,00,000 2,20,000

10% Debentures having
floating charge 4,00,000

The liquidators remuneration was fixed at 4%
on the assets realised by him including surplus
from secured creditors and 2% on the amount
paid to unsecured creditors. The liquidation

expenses came to ¥ 15,800 including ¥ 2,800

legal charges. The interest on Debentures was
due for one year to the date of winding up.
Prepare the Liquidator’s final statement of
account showing the rate and amount

distributed as final dividend to unsecured
creditors.

50_DRG (16)
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Sahis / Unit-III
3. Y% HF[UR 99 ] 379 o a9e giiony
fA=fesa yssR § -
a4 2012 2013
Yy | 15,000 | 18,000

2014 2015
25,000 | 30,000

Tt a2 & qaR =9UR &I $ F=faar
¥ 2,50,000 ¢ fogg fy=fafaa wfida B :
qff wd§ wa9 $50,000 (ANR HH
T 60,000); T™AIOE wWd HIMAA T 98,000,

fafEmT (5% S&RT =T, S9r9R UREY i
¥ g 9 9IfE@) ¥ 20,000, =& gHfaEr

¥ 80,000, YRMFHsh A T 2,000 |
Tifael o frefaliga wnfae @ -

B HEg . (4f1 w§ ¥ad % fag ¥ 5,000
T wve Wd "I & faQ ¥ 8,000)
¥ 13,000, g <ac (HAUR F THI i
st I BIgHI) T 50,000 HTGR i A

AU 3T 10% & | Af¥eny & i i
% I + AUR W ©Hfd K oI T

SIS |
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(9)

'l‘ll\ AQ 5 NN O 11 :
¢ result at the each accounting year of a

business 1§ given below :

Year 2012 2013 2014 2015

Profit | 15,000 [ 18,000 | 25,000 | 30,000

The total assets of the business as per last
Balance Sheet are of 2,50,000 which
includes :

Land and Building ¥ 50,000 (Market value
¥ 60,000); Plant and Machinery ¥ 98,000;

Investment (5% Government Loan held since

starting of the business) ¥ 20,000; Current
Assets ¥ 80,000; Preliminary  Expenses
T 2,000. The liabilities include depreciation
fund (for Land and Building ¥ 5,000 and for
Plant and Machinery ¥ 8,000) ¥ 13,000; Other
Liabilities (excluding owner’s fund) ¥ 50,000.

The average return expected from such
business is 10%. Compute the value of
Goodwill at three years purchase of super
profit of the business.

37eEar / OR
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& T w S e GE STeey
g
qHdT G?Wi'?rﬁ
() 10000 Tl 3% ¥ 10 A Pla: ¥em
(b) 1000, 129% TAMURR W F100 A
T ¥ew
(0 T T AP 7 15,000
(d) 9 < ;
(i) TER ¥ 12,000
(i) T T ¥ 6,000
(¢) FUHI g Y% ¥ aAfSiq 3igd W
Y (W & TEE) 728,500
S F g @ 7800 FOTH FOM

T 9 & | 39 YR F FET % 9O
I & Ty ¥ e T wME g

X 10% AT S g
WAl S % I [ WA Fw

The following particulars of a new company

are available :

Equity Shares Capital :

(@) 10000 Equity Shares of ¥ 10 each fully
paid.

50_DRG (16) (Continued)



(11)

(b) 1000, 12% Preference Shares of ¥ 100
each fully paid.

(c) Reserve and Surplus ¥ 15,000.

(d) External liabilities -
(1) Creditors ¥ 12,000

(i) Bills Payable ¥ 6,000

(e) The ~avarage normal profits (after
taxation) earned each year by the
company ¥ 28,500.

Assets of the comapany include fictitious item
of ¥ 800. The fair or normal rate of return in

respect of the Equity Shares of this type of
company is ascertained at 10%.

Calculate the fair value of Equity Shares.

SR8 / Unit-IV

4. THHW F1 T ? faeg #t yhfa qon I i
Tehid ST TehIshiol Y <M H TR hea!
w R W T yiaftedl S © 2
What is Amalgamation ? What entries are
made in the books of transferee company it

case of amalgamation in nature of merger and
nature of purchase ?

37U4qr / OR
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s fro @ g siw got ¥ 2,50,000 °f
St 7 10 AR 25000 W ie A fewRd el

S w oER wf e W e &
Wamﬁmemsh

wigd wR ot 7| gErE @ W e

g

(a) SR @ STE SivERal % wed H
LI

() ST sivemar ¥ % qIT % W
Uiy gHal 39
(i) SRE T GHA@ W F 20% H
g 9% 5% YaifusR qouied 3T
(ifi) 3000, ¥ 10 a1 6% fecid RO |
(b) 2500, T 10 a&F 5% WA o fifHa
fFT TT qur 9 e QU Afed g
(¢) gwfggl # frefafad &9 g3 ¢
() ©fd ¥4,50,000 ¥ FEH T 75,000
(i) TRIA8 50,000 § ¥IH ¥ 37,500
(iii) YSThd  9a9 ¥ 75,000 ¥ ETIH
T 62,500 .
AHATT FT SR ISl I FHET TR F
fau sHa wiafedl iR

50_DRG (16) (Continued)



(13)

Th i CanT - '
¢ paid up capital of Amit Lrd. amounted o
T 2,50,000 consisting of 25000 Equityv S}
- U oK VOO IATSS
of ¥ = el
10 each. ‘DUL to losses incurred by the
company contmuously, the Directors of the
com - schi g " i
Whic;;any Prepared a scheme for reconstruction
‘\x as duly  approved. The terms of
Teconstruction were as under -
a ‘3 = ).
(@ In view of their present holdings, the
shareholders are to receive :

. X 2
() Fully paid equity share equal to ~-'-<-'th

of their holding.
(i) 5% Preference Shares fully paid upto
the extent of 20% of the above new
Equity Shares.
(Zii) 3000, 6% Second Debentures of ¥ 10
each.
(b) 2500, 5% First Debentures of ¥ 10 were
issued and they were fully called for cash.
(¢) The assets were reduced as follows :
(i) Goodwill from ¥ 4,50,000 to
T 75,000
(if) Machinery from ¥ 50,000 to ¥ 37,500
(ii) Leasehold premises from ¥ 75,000 to
T 62,500.
Show the journal entries to give effect to the
above scheme of reconstruction.

B (Trn Over)
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F&HTS / Unit-V

5. 31 W, 2016 W v fufivz qenr TR
wewd wy fafds & faR s i) mr ¥

faaRu Hfete [ S fato
(%) (%)
L. O U9 Qi -
VYR Y
THAT 3731 10,00,000|2,00,000
HR §=g 2,00,000]1,00,000
Y-TI e 1,00,000| 50,000
BISEIRCE
R g 2,00,000(1,00,000
15,00,000]4,50,000
I1. |
R-aTe], Fefe
T gefaar 8,00,000/1,00,000
S feto & 75% 3%
AN | 3,00,000| -
Wwﬁa‘f
TG 1,00,000/2,00,000
37 =] FHfaar 3,00,000(1,50,000
15,00,000(4,50,000
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31 M9, 2016 47 fasfe Wera sfafrs
I H T BU qnfag faz

(@) H f*afq?:' A 31 e

91 #
450 -

, 2015 Y 30000 9

]r]i'é|
(b) S fafieea 31 9, 2016 % Tura 213 =
a4 % feTU 30000 % &g =077 |

(¢) 1M, 2016 &1 § fafges 3 | fafmze =
¥ 20,000 ANTd =h1 HTA 7 30,000 H =<1 31
T, 2016 1 395 | 30 91 H i %
M # ifashia Ter g o1

On 31st March, 2016 the Balance Sheet of H
Ltd. and its Subsidiary S Ltd. are given below :

Particulars H Ltd. S Ltd.
) )
I. Equity & Liabilities :
Shareholder’s Fund :
Equity Share Capital  {10,00,000{2,00,000
General Reserve 2,00,000]1,00,000
Profit & Loss Statement| 1,00,000f 50,000
Current Liabilities :
Trade Payables 2,00,000]1,00,000
15,00,000{4,50,000
II. Assets :
Non-current Assets :
Fixed Assets 8,00,000(1,00,000
75% shares in S Ltd.
at cost 3,00,000 -
50_DRG (16) (Turn Over)
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- | [ S Lick.

T T rart b sshars
2 00,000
i ,5(),(3()0
’.__—.—ui—-'——“——_ﬂ
4. 50,000
ed Balance Sheect as On 31st

considcration

taking Into
information -

{ wrrent Asscis

Inventorcs

Other Current Asscts

S

Draw a Consohidat
2016 aficr

Narch,
the followimng additional
(@) H Lid. acquired 30000 shares oOn 31st
July, 2015.
S Ltd. earned a profit of T 30,000 for the
arch, 2016.

&)
year ended 31st M

(c¢) On Ist January, 2016 S Ltd. sold goods to
H Ltd. costing T 20,000 for ¥ 30,000. On
31st March, 2016 half of these goods are
lying as unsold in the godowns of H Ltd.

s7erar - OR

gEuRT e % Tag o6 |re et 1 Sidr € 2

What information according to Section 129
of the Companies Act, 2013 is required to be
éttached t.o the Balance Sheet of Holding
ompany is respect of each of its subsidiary

company ?

10,240
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% B.Com (Part-II)
Examination, March-April, 2023
Compulsory
Group - I
Paper - II
Company Law
Time : Three Hours] [Maximum Marks : 15
e coweft e ¥ SW R el e F e
TIH T
Note : Answer all questions. All questions carry equal
marks.

TehTS / Unit-I
. ST YA H®1 O Al FEEed & F
qyE B §7 gWed § o fRT T
aaa‘%ﬁﬁémﬁ%fwﬁrw%?

What is a certificate of incorporation and what

are the consequences of incorporation ? What
is the legal position of contracts made before

incorporation ?
379dr / OR

99 DRG_(4) (Turn Over)
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;?"* B B § 2 weadat w1 S Rk
T SifST | oo 3
: %5 F yia 39 =0

Wh.o. 1s the Promoter? Explain the legal
P_OSl.tl.O.n of promoters. What are their
liabilities towards company ?

SHTS / Unit-II

2. HiEROr T gar § 2 wigeRer § fFeAr U
¥ I =fF SweEt s €2 W e
o ¥ forw et qen ST It
%t I SIS

What is Prospectus ? Who are responsible for

fraudulent statement in a prospectus ? Discuss
the civil and criminal liabilities for fraudulent

statements.

3eqr / OR

et g i S ¥ ug HeifEE
g@aﬁaw—waﬁ%?mwﬁ
qRead @1 Sy w1 FuH ST

What are the main clauses in Memorandum

of Association of a company limited by
shares ? Describe the procedure of altering in

the object clause.

99_DRG_(4) (Continued)
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SHTE / Unit-111
3. wey warE B R ) s
AT, FRB T WRgfR § g
Ity & YEYE FdRTl

Define Managing Director.  State  the
provisions of the Act as to their appointment,
disqualifications, term and remuneration.

37edr / OR

Y 1 T ? 9YF 99T YUR H =K FaisC |

What is Mortgage ? Explain the difference
between mortgage and charge.

g / Unit-IV
4. “HEE Ht FEdR TEE gR geEad gidl
¥ fe g grr’! fodeAr HifsC

“The proceedings of the company are
governed by resolutions, not by meetings.”

Discuss.

3794t / OR

T 1 o ek e fafae) faa oot
#mmmﬁﬁmm%?

Give the meaning and types of resolution. For
what purpose are special resolutions required ?

99 DRG (4) (Turn Over)
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SR8 / Unit-V

5. P h WA W T oW ¥2 eyt ¥
AT T Sl o foued § o W
SifsTg |

What do you mean by winding-up of a

company ? Explain the difference between
winding-up and dissolution of a company.

34T / OR

INUIRGT & SgAT F IS ¥ FRm a9
M & ErRl % 9uEREy|

Explain the rule of supremacy of majority of
share-holders and exceptions of this rules.

99 DRG (4) 230
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— . ..l?.Com (Part-11)

E=s. [Examination, March-April, 2023
Compulsory
Group - II
Paper - 11

Principles of Business Management

Time : Three Hours] [Maximum Marks : 75

M @A Tl W AT wit gl ks
T €

Note : Answer all questions. All questions carry equal
marks.

ST / Unit-I
1. “‘yeiy T HAA HI kel 7' TH HYA hHI
gugmET R YEY % A HMET H GUH
TSI |

“Management is the art of getting the work
done.” Explain the statement and describe the

main functions of management.

YIGT ~ OR

B

(Turn Over)
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sy oE wRaw # e % A
w§ Sl W Sy |

: ’ i ¢
Discuss the 1mportance and utlllty. 0
management in  the modern  business

environment.

$Ts / Unit-11
2. FrESH ® oumom ® TR RIS T
9% UHRI &1 JUF i
Explain the concept of Planning and describe
its types.
34T / OR
W g YEY ¥ oY @ GHE © 2 §Hh
T Te dmesll wi faee wifsal

What do you understand by management by
objectives ? Discuss its importance and
limitations.

3ehT3 / Unit-11I
3. @ T§ FHIYN ST hl GHETEI I Y@l
e ¥ g ger fy= ®2

Describe line and staff organisation. How does
it differ from line organisation ?

HIUqT / OR

194 DRG_(4) (Continued)
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‘¢ TfreR ST WIS TeRam S Gehdl & Toh=d
SaRElad w1 AET I’ 9 HUd 1 I HIC
e TaF=iger<or & 701 Td <4l I FAELl

«“Authority can be delegated but responsibility

cannot be delegated.” Explain this statement
and state the merits and demerits of

decentralisation.

ghTs / Unit-IV
4. oTfdeon wT €27 SAfMURm % TEd d™1 9%
fagr<i &I 9AAETI
What is Motivation ? Explain X and Y theory

of motivation.

37eraT / OR
Yq@ @ emg @ wAed 27 g W
feroareil wd fafu=t ferdl 1 vl SIS

What do you understand by leadership ?
Describe the characteristics and various styles

of leadership.

19 4__DRG_(4) (Turn Over)
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What do you mean by control ? Deseribe the
essential steps of an effective control system,

QT 7 OR

TREAT 1 wsiy T ¥ gRed A et §
VY ¥ SN gU R oo iR

What is Management of change ? Describe the
emerging horizons of Management in a
changing environment.

S ———————

194 DRG_(4) 10,240



